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1 JEAHET (/N TR | 271 JH | 1,256.00
2 BEARET [BE [F s |1818] 1) 4 [4,011.00
3 JRAHT (K5 P I 925 1| 4# [ 250.00
4 JRAHT /8L JARE | 239 1] H | 582.00
5 JEARHET (/N JARE | 240 1| B | 271.00
6 JEARHT [/NHE AR ALR| 844 1] M [ 1,621.00
7 JRAHT (il SEAR (1173 1| 4l | 806.00
8 JEARET L | FHARAET | 276] 1| 48 | 690.00
9 JRAHT /8L R | 413 1) 4| 931.00
10 JEARHT [P S 6 M [1,408.00
11 JREARHT | RS | 712] 2| 4B | 938.00
12 JEARHRT bk & B4R | 804 1| JH [1,238.00

13 JRARHT [N i) [ 322 1| H | 690.00

14 JRAHT ik FA 2332 1| M |1,383.00

15 FRARHT ke | =5k B 389 [ 932.00

16 JRAHT | HT H KiR 451 1| B | 928.00

17 TARHET | dbEE |EETS | 163 | 244.00

18 FARET | dbERE [ EETE | 164 40 | 1,249.00

19 JEARRT (S Zl | 169 1] kW [ 1,873.00

20 FEARHT /8L NI 518 9| JH | 446.00

21 JRARHT /N WHEERT | 3931 2| | 591.00

22 JEARHT Ak | e 2R 863 i 1,076
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23 SEARET IR [53Ee 1043 1| B | 2,295
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